# LIVONIA PUBLIC SCHOOLS

### Sheila A. Alles, Director

## **Academic Services Department**

June 10, 2014

TO: Dr. Randy Liepa

FROM: Sheila Alles

SUBJECT: TEXTBOOK RECOMMENDATIONS FOR MATH - GRADES 6, 7 and 8

I am requesting that the following textbook purchase recommendations for math for grades 6, 7 and 8 be placed on the June 16, 2014, Board Curriculum Committee agenda. We have completed the district prescribed textbook adoption process, and the elementary and middle school principals support the recommendation. The textbooks are available to review in my outer office area.

#### COURSES: MATH - GRADES 6, 7 AND 8

Larson's Middle School Math Series:

Big Ideas Math: A Common Core Curriculum, 2014

Vendor: Houghton Mifflin Harcourt

Representing Big Ideas Learning

3800 Golf Road, Suite 100 Rolling Meadows, IL 60008 Jim Jenkins, Account Executive

586-532-0823

Item Description	Item #	ISBN	Quantity	Unit Price	No Cost to District	District Cost
		Grade (	6			
Larson Big Ideas Common Core Student Edition Green 2014	1549746	9781608404490	1180	\$72.00		\$84,960.00
Larson Big Ideas Common Core Online Dynamic Student Edition 6 year Green 2014	1552317	9781608404957	1180	\$62.00	\$73,160.00	
Larson Big Ideas Common Core Curriculum eReader Files, 6 year Green 2014	1552307	9781608405084	1180	\$37.50	\$44,250.00	
Larson Big Ideas Common Core Teacher Edition Green 2014	1552350	9781608404568	53	\$127.25	\$6,744.25	
Larson Big Ideas Skills Review and Basic Skills Handbook, Grades 6-8	1457113	9781608401550	30	\$10.50	\$315.00	
Larson Big Ideas Common Core Assessment Book Green	1552330	9781608404704	30	\$72.76	\$2,182.80	
Larson Big Ideas Common Core Resources by Chapter Green	1552339	9781608404742	30	\$286.42	\$8,592.60	
Larson Big Ideas Common Core Dynamic Assessment Resource DVD	1552325	9781608404780	30	\$201.81	\$6,054.30	

Larson Big Ideas Common Core Dynamic Teacher Resource DVD	1522327	9781608404797	30	\$445.50	\$13,365.00	
On Core Mathematics Deluxe ExamView CD-ROM Grades 6-12	1477594	9780547688237	30	\$96.65	\$2,899.50	
Larson Big Ideas Common Core Online Teacher Materials Green	1552284	9781608405008	53	\$445.50	\$23,611.50	

Includes:

Big Ideas Math Green Teaching Edition Online

Big Ideas Math Green Lesson Plans Online

Big Ideas Math Green Record and Practice Journal Online

Big Ideas Math Green Record and Practice Journal Answer Key Online

Big Ideas Math Green Assessment Book Online

Big Ideas Math Green Worked-Out Solutions Online

Big Ideas Math Green Resources by Chapter Online

Big Ideas Math Green Differentiating the Lesson Online

Big Ideas Math Green Answer Presentation Tool Online

Big Ideas Math Green Dynamic Classroom Online

Big Ideas Math Skills Review Handbook Online

Big Ideas Math Basic Skills Handbook Online

Big Ideas Math Interactive Glossary Online

Big ideas Math Interactive Gio	ssary Online					
Larson Big Ideas Common	1552335	9781608404605	1,180 x 6 yr	\$10.41	\$12,283.80	
Core Record & Practice			•			
Journal Green (provided for						
6 years with the purchase of						
1 .						
50 or more SEs)						
					No Cost to	District Cost
					District	
Grade 6 Total					\$193,458.75	\$84,960.00

Item Description	Item #	ISBN	Quantity	Unit Price	No Cost to District	District Cost
		Grade '	7			
Larson Big Ideas Common Core Student Edition Red 2014	1549747	9781608404506	880	\$72.00		\$63,360.00
Larson Big Ideas Common Core Online Dynamic Student Edition 6 year Red 2014	1552319	9781608404964	880	\$62.00	\$54,560.00	
Larson Big Ideas Common Core Curriculum eReader Files, 6 year Red 2014	1552309	9781608405091	880	\$37.50	\$33,000.00	
Larson Big Ideas Common Core Teacher Edition 2014	1558383	9781608404575	21	\$127.25	\$2,672.25	
Larson Big Ideas Skills Review and Basic Skills Handbook, Grades 6-8	1457113	9781608401550	18	\$10.50	\$189.00	
Larson Big Ideas Common Core Assessment Book Red	1557798	9781608405336	18	\$72.76	\$1,309.68	
Larson Big Ideas Common Core Resources by Chapter	1552340	9781608404759	18	\$286.42	\$5,155.56	
Larson Big Ideas Common Core Dynamic Assessment Resource DVD	1552325	9781608404780	18	\$201.81	\$3,632.58	
Larson Big Ideas Common	1522327	9781608404797	18	<i>\$445.50</i>	\$8,019.00	

			1		1	
Core Dynamic Teacher						
Resource DVD	4.47750.4	07005 47000007	10	<b>\$00.05</b>	Ø4 700 70	
On Core Mathematics	1477594	9780547688237	18	\$96.65	\$1,739.70	
Deluxe ExamView CD-ROM						
Grades 6-12					4	
Larson Big Ideas Common	1552285	9781608405015	21	\$445.50	\$9,355.50	
Core Online Teacher						
Materials Red						
Includes:						
Big Ideas Math Red Teaching		е				
Big Ideas Math Red Lesson P						
Big Ideas Math Red Record a						
Big Ideas Math Red Record a			nline			
Big Ideas Math Red Assessme						
Big Ideas Math Red Worked-C						
Big Ideas Math Red Resource						
Big Ideas Math Red Differentia						
Big Ideas Math Red Answer P						
Big Ideas Math Red Dynamic						
Big Ideas Math Skills Review I						
Big Ideas Math Basic Skills Ha						
Big Ideas Math Interactive Glo						
Larson Big Ideas Common	1552336	9781608404612	880 x 6 yr	\$10.41	9,160.80	
Core Record & Practice						
Journal Red (provided for 6						
years with the purchase of						
50 or more SEs)						
					No Cost to	Total District
					District	Cost
Grade 7 Total					\$128,794.07	\$63,360.00

Item Description	Item #	ISBN	Quantity	Unit Price	No Cost to District	District Cost
		Grade	8			
Larson Big Ideas Common Core Student Edition Blue 2014	1549748	9781608404513	925	\$72.00		\$66,600.00
Larson Big Ideas Common Core Online Dynamic Student Edition 6 year Blue 2014	1552315	9781608404988	925	\$62.00	\$57,350.00	
Larson Big Ideas Common Core Curriculum eReader Files, 6 year Blue 2014	1552305	9781608405114	925	\$37.50	\$34,687.50	
Larson Big Ideas Common Core Teacher Edition Blue 2014	1552349	9781608404582	21	\$127.25	\$2,672.25	
Larson Big Ideas Skills Review and Basic Skills Handbook, Grades 6-8	1457113	9781608401550	18	\$10.50	\$189.00	
Larson Big Ideas Common Core Assessment Book Blue	1552329	9781608404728	18	\$72.76	\$1,309.68	
Larson Big Ideas Common Core Resources by Chapter Blue	1552338	9781608404766	18	\$286. <i>4</i> 2	\$5,155.56	
Larson Big Ideas Common Core Dynamic Assessment Resource DVD	1552325	9781608404780	18	\$201.81	\$3,632.58	

Larson Big Ideas Common	1522327	9781608404797	18	\$445.50	\$8,019.00	
Core Dynamic Teacher						
Resource DVD						
On Core Mathematics	1477594	9780547688237	18	\$96.65	\$1,739.70	
Deluxe ExamView CD-ROM						
Grades 6-12						
Larson Big Ideas Common	1552283	9781608405039	21	\$445.50	\$9,355.50	
Core Online Teacher						
Materials Blue						
land, don.	•	·	•	•		-

Includes:

Big Ideas Math Blue Teaching Edition Online

Big Ideas Math Blue Lesson Plans Online

Big Ideas Math Blue Record and Practice Journal Online

Big Ideas Math Blue Record and Practice Journal Answer Key Online

Big Ideas Math Blue Assessment Book Online

Big Ideas Math Blue Worked-Out Solutions Online

Big Ideas Math Blue Resources by Chapter Online

Big Ideas Math Blue Differentiating the Lesson Online

Big Ideas Math Blue Answer Presentation Tool Online

Big Ideas Math Blue Dynamic Classroom Online

Big Ideas Math Skills Review Handbook Online

Big Ideas Math Basic Skills Handbook Online

Big Ideas Math Interactive Glossary Online

Larson Big Ideas Common Core Record & Practice Journal Blue (provided for 6 years with the purchase of 50 or more SEs)	1552334	9781608404636	925 x 6 yr	\$10.41	\$9,629.25	
30 of more des)					No Cost to District	District Cost
Grade 8 Total					\$133,740.02	\$66,600.00

Additional Items					No Cost to District	District Cost
Three days of textbook training	Three days of textbook training (schedule six weeks in advance).					\$0
On-line book extended for two years for a total of eight years, per Denise McDowell, VP						\$0
of Big Ideas Learning.						

SUMMARY	No Cost to District	Total District Cost
Total Grades 6, 7 and 8	\$455,992.84	\$214,920.00
Shipping & Handling 4.5%		\$9,671.40
Total Cost		\$224,591.40

mb

c Andrea Oquist Steve Archibald Mitzi Castelli

# LIVONIA PUBLIC SCHOOLS

## Sheila A. Alles, Director

## **Academic Services Department**

June 10, 2014

TO: Dr. Randy Liepa

FROM: Sheila Alles

SUBJECT: CALCULATORS WITH SOFTWARE RECOMMENDATION FOR MATH, GRADES 6, 7

and 8

I am requesting that the following calculators with software purchase recommendation for math for grades 6, 7 and 8 be placed on the June 16, 2014, Board Curriculum Committee agenda. The TI-84 calculators will be used in grades 7 and 8 math classes and TI-30 calculators will be used in grade 6 math classes.

#### COURSES: MATH - GRADES 6, 7 AND 8

Vendor: D&H Distributing Co.

2525 North Seventh Street Harrisburg, PA 17110 Angela Rhoads, Bid Analyst 800-340-1006, ext. 7683

Item Description	D&H Item #	Quantity	Unit Price	Cost
TI-84 Plus C Silver Edition Color Graphing	84PLSECOLORTPK	65	\$1,208.04	\$78,522.60
Calculator – Teacher Pack of 10 EZ-Spot				
Yellow Calculators and a Charging Station				
TI-30XS MultiView Scientific Calculator –	TI30XSMVTKYEL	84	\$119.10	\$10,004.40
Teacher Kit of 10 EZ-Spot Yellow				
Calculators and a Carrying Case				
TI-Smart View Emulator Software for the	84EMUNPESWC	19	\$66.90	\$1,271.10
TI-84 Plus Family – School Managed				
Perpetual Electronic License				
TI-SmartView Emulator Software for the TI-	MVEMUCPESWA	20	\$47.40	\$948.00
30X/TI-34 MultiView Calculators –				
Concurrent Perpetual Electronic License				
TI-84 Plus C Charging Station	TI84PLUSCDOCK	7	\$61.80	\$432.60
Cost				\$91,178.70
Shipping & Handling - free				0
Total Cost				\$91,178.70

mb

c Andrea Oquist Steve Archibald Mitzi Castelli